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Both pair of opposite sides not congruent

Both pair of opposite sides are congruent
(all are equal to 12)‐‐so it's actuall a rhombus, 
too!

One pair of opposite sides is marked parallel;
The other pair of opposite sides is marked 
congruent‐‐must be both congruent or both 
parallel

Missing information‐‐Either the other pair of 
opposite sides must be congruent as well, or the 
congruent sides must also be parallel

Both pair of opposite angles are congruent‐‐
since all are 900, it's also a rectangle
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Only one pair of opposite sides marked parallel; 
the other pair must also be parallel, or the 
parallel sides must also be congruent

The diagonals bisect each other

Both pair of opposite angles are congruent

No information given at all

The remaining angle must be 950 (sum must be 
3600)‐‐which makes both pair of opposite angles 
congruent

Side AB is parallel to side DC, and side AD is 
parallel to side BC because alternate interior 
angles (for both side pairs) are marked 
congruent
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(14x + 13) + 55 = 180
14x + 68 = 180
14x = 112
x = 8

8

9x + 7 = 115
9x = 108
x = 12

12

10x + 2 = 22
10x = 20
x = 2

2

7w ‐ 1 = 104
7w = 105
w = 15

15
2z = 76
z = 38

5y ‐ 18 = 3y ‐ 2
2y ‐ 18 = ‐2
2y = 16
y = 8

3x/5 = 15
3x = 75
x = 25

25

8

38

4y + 2 = 8y
2 = 4y
1/2 = y

1/2

2x + 1 = 5
2x = 4
x = 2 2
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A

B

C

D

mAD = mAB =

mBC = mCD =

5
3
5
3

3
5
3
5

AD || BC (same slopes)
AB || CD (same slopes);
So, ABCD is a parallelogram because both 
pair of opposite sides are parallel

AB = √32 + 52 = √9 + 25 = √34

BC = √32 + 52 = √34

CD = √32 + 52 = √34

DA = √32 + 52 = √34

ABCD is a rhombus; all 4 
sides are congruent

mAD = mAB =

mBC = mCD =

5
3
5
3

3
5
3
5

AD    AB and BC    CD because they have 
opposite reciprocal slopes.  So ABCD 
is a rectangle (all angles 900)

Since ABCD is both a rectangle and a 
rhombus, it is a square :)
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